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ENGLISH)

LIMIT AND CONTINUITY

Multiple Choice Questions Level I

1.  is equal to :

A. 0

B. 

C. 1

D. -1

Answer: B

lim
x→ 0

sinx

x(1 + cos x)

1

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_W3dSSYFK7ikk


Watch Video Solution

2.  is equal to :

A. 0

B. -1

C. 1

D. Does not exist

Answer: A

Watch Video Solution

lim
x→ π

2

1 − sinx

cos x

3.  is equal to :

A. 1

B. -1

lim
x→ 0

|x|

x

https://dl.doubtnut.com/l/_W3dSSYFK7ikk
https://dl.doubtnut.com/l/_CEVGkrNFlerj
https://dl.doubtnut.com/l/_lDebkzDhNiUr


C. 0

D. Does not exist

Answer: D

Watch Video Solution

4. , where  is the greatest integer function is equal to :

A. 1

B. 2

C. 0

D. Does not exist

Answer: D

Watch Video Solution

lim
x→ 1

[x − 1] [ ⋅ ]

https://dl.doubtnut.com/l/_lDebkzDhNiUr
https://dl.doubtnut.com/l/_BXJEI9L10fz0


5.  is equal to :

A. 0

B. 1

C. 

D. Does not exist

Answer: A

Watch Video Solution

lim
x→ 0

x sin
1

x

1

2

6.  is equal to :

A. 0

B. 1

C. 

D. 

lim
n→ ∞

, n ∈ N
1 + 2 + 3 + …... + n

n2

1

2

1

4

https://dl.doubtnut.com/l/_A8oIkzASHcd8
https://dl.doubtnut.com/l/_w7dbtTbfNfrW


Answer: C

Watch Video Solution

7.  is :

A. 2

B. 0

C. 1

D. -1

Answer: C

Watch Video Solution

lim
x→ 0

sinx

√x + 1 − √1 − x

8.  is :

A. 

lim
x→ 1

(√x − 1)(2x − 3)

2x2 + x − 3

1

10

https://dl.doubtnut.com/l/_w7dbtTbfNfrW
https://dl.doubtnut.com/l/_Jas5ndA2SU9Z
https://dl.doubtnut.com/l/_fms7GDZRmNRq


B. 

C. 1

D. Does not exist

Answer: B

Watch Video Solution

−
1

10

9. Let , the quadratic equation whose

roots are  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = {
x2 − 1 0 < x < 2

2x + 3 2 ≤ x < 3

lim
x→ 2 −

f(x) and lim
x→ 2 +

f(x)

x2 − 6x + 9 = 0

x2 − 7x + 8 = 0

x2 − 14x + 49 = 0

x2 − 10x + 21 = 0

https://dl.doubtnut.com/l/_fms7GDZRmNRq
https://dl.doubtnut.com/l/_piEZa4uGm1Es


10. , is :

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
x→ 0

tan 2x − x

3x − sinx

1

2

−
1

2

1

4

11.  equals :

A. 0

B. 1

C. 2

D. 

lim
x→ 1

loge x

x − 1

1

2

https://dl.doubtnut.com/l/_piEZa4uGm1Es
https://dl.doubtnut.com/l/_sUILJIGp3mvQ
https://dl.doubtnut.com/l/_bn5N4VuWOXS9


Answer: B

Watch Video Solution

12.  equals :

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ ∞

(2x − 3)(3x − 4)

(4x − 5)(5x − 6)

1

10

1

5

3

10

13.  is :

A. 0

lim
x→ 0

( )
x

tan− 1 2x

https://dl.doubtnut.com/l/_bn5N4VuWOXS9
https://dl.doubtnut.com/l/_MfyXoFY8zRFX
https://dl.doubtnut.com/l/_OjkGGF0rSyst


B. 

C. 1

D. 

Answer: B

Watch Video Solution

1

2

∞

14.  is :

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ ∞

( )
x+ 4

x + 6

x + 1

e4

e5

https://dl.doubtnut.com/l/_OjkGGF0rSyst
https://dl.doubtnut.com/l/_GArmfnMffQW9


15.  is :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

lim
x→ 0

ax − 1

√1 + x − 1

2 loge a

loge a
1

2

a loge 2

16.  is :

A. 1

B. 0

C. -1

D. Does not exist

lim
x→ 0

x2 sin(1/x)

sinx

https://dl.doubtnut.com/l/_ZzrmS9WtnPud
https://dl.doubtnut.com/l/_EbF3iHmPQCi6


Answer: B

Watch Video Solution

17.  is :

A. 0

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

lim
n→ ∞

( + + …... + )
1

1 − n2

2

1 − n2

n

1 − n2

−
1

2

1

2

18. The value of  is :

A. 1

lim
x→ 0

√ (1 − cos 2x)1
2

x

https://dl.doubtnut.com/l/_EbF3iHmPQCi6
https://dl.doubtnut.com/l/_sX0zmDwpuyT0
https://dl.doubtnut.com/l/_3wFmVDfiu46i


B. -1

C. 0

D. None of these

Answer: D

Watch Video Solution

19.  is :

A. 

B. 

C. 

D. 0

Answer: C

Watch Video Solution

lim
θ→ 0

cosecθ − cot θ

θ

−1

2

∞

1

2

https://dl.doubtnut.com/l/_3wFmVDfiu46i
https://dl.doubtnut.com/l/_mtvVQc73vBVP
https://dl.doubtnut.com/l/_NeSl0neZ8ZvC


20.  is :

A. 0

B. 1

C. 

D. None of these

Answer: C

View Text Solution

lim
x→ 0

( )
1 /x

1 + tanx

1 − tanx

e2

21.  is :

A. 

B. 

C. 

D. None of these

lim
n→ ∞

n

∑
r= 1

r21

n3

1

4

1/3

1/2

https://dl.doubtnut.com/l/_NeSl0neZ8ZvC
https://dl.doubtnut.com/l/_gF5VCUzK09yV


Answer: B

Watch Video Solution

22.  is :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

lim
x→ ∞

n

∑
r= 1

r31

n4

1

4

1/3

1/2

23. If f be a function such that f(9) = 9 and f'(9) = 3, then : 

 is :lim
x→ 9

√f(x) − 3

√x − 3

https://dl.doubtnut.com/l/_gF5VCUzK09yV
https://dl.doubtnut.com/l/_9nulBqGGuwRQ
https://dl.doubtnut.com/l/_OOl0d9md4MnE


A. 1

B. 9

C. 3

D. None of these

Answer: C

Watch Video Solution

24.  is :

A. a real number other than 0 and 1

B. 0

C. 1

D. None of these

Answer: C

View Text Solution

lim
x→ 0

( )sin( )
tanx − x

x

1

x

https://dl.doubtnut.com/l/_OOl0d9md4MnE
https://dl.doubtnut.com/l/_zWIlmUC80cQI


25.  is :

A. 1

B. 

C. 

D. 0

Answer: A

Watch Video Solution

lim
n→ ∞

( + + + …. . + )
1

1.2

1

2.3

1

3.4

1

n(n + 1)

2/3

1/3

26. If a, b, c, d are +ve, then : 

 is equal to :

A. e

B. 

lim
x→ ∞

(1 + )
c+dx

1

a + bx

e ( c+d ) ( a+ b )

https://dl.doubtnut.com/l/_zWIlmUC80cQI
https://dl.doubtnut.com/l/_RwWPRbUEqpy5
https://dl.doubtnut.com/l/_J25qNq250TXD


C. 

D. 

Answer: C

Watch Video Solution

ed/ b

ec/a

27.  is :

A. 2

B. -2

C. 

D. 

Answer: C

Watch Video Solution

lim
x→ 0

x tan 2x − 2x tanx

(1 − cos 2x)2

1

2

−1

2

https://dl.doubtnut.com/l/_J25qNq250TXD
https://dl.doubtnut.com/l/_VQetrmXaY0uM


28.  :

A. exists and it equals 

B. exists and it equals 

C. does not exist because 

D. does not exist as LHL is not equal to RHL

Answer: D

Watch Video Solution

lim
x→ 1

√1 − cos 2(x − 1)

x − 1

√2

−√2

x − 1 → 0

29. If , where [x] denotes the

greatest integer less than or equal to x, than  equals :

A. 1

B. 0

C. -1

f(x) = , [x] ≠ 0 = 0, [x] = 0
sin[x]

[x]

lim
x→ 0

f(x)

https://dl.doubtnut.com/l/_44YP4WcwO2DO
https://dl.doubtnut.com/l/_3oXpi1kHYJVi


D. None of these

Answer: D

View Text Solution

30.  is equal to :

A. 0

B. 

C. abc

D. 

Answer: B

Watch Video Solution

lim
x→ 0

( )
2 /x

ax + bx + cx

3

(abc)2 / 3(a, b, c > 0)

√a b c

31.  is equal to :lim
x→ 2

√1 + √2 + x − √3

x − 2

https://dl.doubtnut.com/l/_3oXpi1kHYJVi
https://dl.doubtnut.com/l/_mgnACrEySZcP
https://dl.doubtnut.com/l/_LanlsR8Ip70p


A. 

B. 

C. 0

D. None of these

Answer: A

Watch Video Solution

1

8√3

1

4√3

32. The value of constants a and b, so that : 

, is :

A. a = 0, b = 0

B. a = 1, b = - 1

C. a = - 1, b = 1

D. a = 2, b = - 1

Answer: B

lim
x→ ∞

[ − ax − b] = 0
x2 + 1

x + 1

https://dl.doubtnut.com/l/_LanlsR8Ip70p
https://dl.doubtnut.com/l/_sbo50xJHLIX0


Watch Video Solution

33.  equals :

A. -1

B. 0

C. 1

D. None of these

Answer: B

Watch Video Solution

lim
x→ ∞

√x2 + 1 − 3√x3 + 1
4√x4 + 1 − 5√x4 + 1

34. The value of  is :

A. 

B. e

lim
x→ 0

( )
1 /x2

1 + 5x2

1 + 3x2

e2

https://dl.doubtnut.com/l/_sbo50xJHLIX0
https://dl.doubtnut.com/l/_bgK5d2cLtEKv
https://dl.doubtnut.com/l/_wRj9WuWyzE7g


C. 

D. None of these

Answer: A

Watch Video Solution

e− 1

35. The value of  is :

A. 1

B. -1

C. 0

D. None of these

Answer: B

Watch Video Solution

lim
x→ 0

ln(1 + 2h) − 2ln(1 + h)

h2

https://dl.doubtnut.com/l/_wRj9WuWyzE7g
https://dl.doubtnut.com/l/_ArRA4n9GsYEA


36. Let f(x) = sgn (sgn (sgn x)). Then  is :

A. 0

B. 1

C. 2

D. None of these

Answer: D

View Text Solution

lim
x→ 0

f(x)

37.  equals :

A. 0

B. 1

C. does not exist

D. None of these

lim
x→ 0

sin[cos x]

1 + [cos x]

https://dl.doubtnut.com/l/_vJZo6WnoYd7Z
https://dl.doubtnut.com/l/_UEvtTux4GgfP


Answer: A

Watch Video Solution

38. The function  is continuous at x =

0, then value of k is :

A. 3

B. 2

C. 1

D. 1.5

Answer: B

Watch Video Solution

f(x) = {
+ cos x if x ≠ 0

k if x = 0

sin x

x

39. The number of points at which the function  is :f(x) =
1

x − [x]

https://dl.doubtnut.com/l/_UEvtTux4GgfP
https://dl.doubtnut.com/l/_iL0dVYYZRoUe
https://dl.doubtnut.com/l/_esh8Pg0Hw0lA


A. 1

B. 2

C. 3

D. None of these

Answer: D

Watch Video Solution

40. The value of k which makes the function defined by : 

 continuous at x = 0 is :

A. 8

B. 1

C. -1

D. None of these

Answer: D

f(x) = {
sin if x ≠ 0

k if x = 0

1
x

https://dl.doubtnut.com/l/_esh8Pg0Hw0lA
https://dl.doubtnut.com/l/_5k4UvM8prLyj


Watch Video Solution

41. If , where , then the value of the function 'f' at x

= 0, so that the function is continuous at x = 0, is :

A. 0

B. -1

C. 1

D. None of these

Answer: A

Watch Video Solution

f(x) = x2sin
1

x
x ≠ 0

42. The function  is not defined at x =

0. The value which should be assigned to f at x = 0 so that it is continuous

at x = 0 is :

f(x) =
log(1 + ax) − log(1 − bx)

x

https://dl.doubtnut.com/l/_5k4UvM8prLyj
https://dl.doubtnut.com/l/_MYNqv6Hz3gVj
https://dl.doubtnut.com/l/_HKB1z1skzUSa


A. a - b

B. a + b

C. log a + log b

D. None of these

Answer: B

Watch Video Solution

43. 

is continuous in the interval [-1, 1], then p is :

A. -1

B. 

C. 

D. 1

Answer: B

f(x) = , − 1 ≤ x ≤ 0 = , 0 ≤ x ≤ 1
√1 + px − √1 − px

x

2x + 1

x − 2

−
1

2

1

2

https://dl.doubtnut.com/l/_HKB1z1skzUSa
https://dl.doubtnut.com/l/_MhOXIYGx5mND


Watch Video Solution

44. The function , if  


=a, if  


, if  


is continuous for , then the most suitable values for a and b

are :

A. a = 1, b = - 1

B. 

C. a = - 1, b = 1

D. None of these

Answer: C

Watch Video Solution

f(x) =
x2

a
0 ≤ x ≤ 1

1 ≤ x < √2

=
2b2 − 4b

x2
√2 ≤ x < ∞

0 ≤ x < ∞

a = − 1, b = 1 + √2

https://dl.doubtnut.com/l/_MhOXIYGx5mND
https://dl.doubtnut.com/l/_buUs5pCMO2Cn


45. Let lim The values of a and b for which the

function f(x) is continuous on the whole real line is :

A. a = 1, b = 0

B. a = 0, b = 1

C. a = 0, b = 2

D. b = 0, any real

Answer: D

Watch Video Solution

f(x) = [
x2 x ≤ 0

ax + b x > 0
]

46. If , then for f to be continuous

everywhere, f(0) is equal to :

A. 

B. 1

f(x) = , x ≠ 0
2 − (256 − 7x)1 / 8

(5x + 32)1 / 5 − 2

24

https://dl.doubtnut.com/l/_s2xPVXZeqjsc
https://dl.doubtnut.com/l/_zldLWOFuz4U8


C. -1

D. None of these

Answer: D

Watch Video Solution

47. If , then  is given by :

A. 0

B. 1

C. -2

D. -1

Answer: B

Watch Video Solution

f(x) =
sin(ex− 2 − 1)

log(x − 1)
lim
x→ 2

f(x)

https://dl.doubtnut.com/l/_zldLWOFuz4U8
https://dl.doubtnut.com/l/_rMj5JKIircW7


48. The function  is not defined at x

= 0. The value, which should be assrgned to f at x = 0. The value, which

should be assrgned to f at x = 0 so that it is continuous at x = 0 is :

A. a + b

B. a - b

C. log a + log b

D. None of these

Answer: A

Watch Video Solution

f(x) =
[log(1 + ax) − log(1 − bx)]

x

49. If the function  is continuous at x =

2, then :

A. a = - 1

B. a = 0

f(x) = {
x ≠ 2

2 x = 2

x2 − ( a+ 2 ) x+a

x− 2

https://dl.doubtnut.com/l/_vAtEz7Py2qs3
https://dl.doubtnut.com/l/_RU8S1erW2qlO


C. a = 1

D. None of these

Answer: B

Watch Video Solution

50. Let  is continuous in [-1, 1].

Then  equals :

A. -1

B. 1

C. 

D. 

Answer: D

Watch Video Solution

f(x) =
⎧
⎨
⎩

−1 ≤ x < 0

0 ≤ x ≤ 1

√1 +ax− √1 −ax

x

2x+ 1

x− 2

a

1

2

−
1

2

https://dl.doubtnut.com/l/_RU8S1erW2qlO
https://dl.doubtnut.com/l/_nsNtmBLWjl9v


51. For  is equal to :

A. e

B. 

C. 

D. 

Answer: C

Watch Video Solution

x ∈ R, lim
x→ ∞

( )
x

x − 3

x + 2

e− 1

e− 5

e5

52.  equals :

A. 

B. 

C. 

D. 1

lim
x→ 0

sin(π cos2 x)

x2

−π

π

π

2

https://dl.doubtnut.com/l/_DtmbUVTqjlBV
https://dl.doubtnut.com/l/_4TDBztYNwnGQ


Answer: B

Watch Video Solution

53.  is :

A. 1

B. -1

C. 0

D. does not exist

Answer: D

Watch Video Solution

lim
x→ 0

√1 − cos 2x

√2x

54. For  is :

A. e

x ∈ R, lim
x→ ∞

( )
x

x − 3

x + 2

https://dl.doubtnut.com/l/_4TDBztYNwnGQ
https://dl.doubtnut.com/l/_Q59IKhzr7AHG
https://dl.doubtnut.com/l/_wxNGcUy7P6PL


B. 

C. 

D. 

Answer: C

Watch Video Solution

e− 1

e− 5

e5

55. The integer n for which  is a finite non-

zero number is :

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

lim
x→ 0

(cos x − 1)(cos x − ex)

xn

https://dl.doubtnut.com/l/_wxNGcUy7P6PL
https://dl.doubtnut.com/l/_6i9VDN455G4I


Multiple Choice Questions Level Ii

1.  is :

A. 0

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

lim
x→ 0

sinx + log(1 − x)

x2

1

2

−
1

2

2.  is :

A. -1

B. 1

lim
x→ ∞

(2 + x)40(4 + x)5

(2 − x)45

https://dl.doubtnut.com/l/_6i9VDN455G4I
https://dl.doubtnut.com/l/_b6fTzp6AFhHV
https://dl.doubtnut.com/l/_nUTjY77XN29r


C. 16

D. 32

Answer: A

Watch Video Solution

3.  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
h→ 0

[2√3 sin( + h) − cos( + h)]π

6
π

6

√3h(√3 cos h − sinh)

2/3

4/3

−2√3

−4/3

https://dl.doubtnut.com/l/_nUTjY77XN29r
https://dl.doubtnut.com/l/_mTH5q3ZNK74s
https://dl.doubtnut.com/l/_SM11B0CeykD2


4. , then  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ 0

ϕ(x) = a3, a ≠ 0 lim
x→ 0

ϕ( )
x

a

a2

1

a2

1

a3

a3

5.  equals :

A. 0

B. 

C. 

D. None of these

lim
x→ 2 +

( − [ ]
3
)

[x]
3

3

x

3

64

27

8

3

https://dl.doubtnut.com/l/_SM11B0CeykD2
https://dl.doubtnut.com/l/_ILZwZLL7VtNy


Answer: C

Watch Video Solution

6. Let , where [x] denotes the greatest

integer , then  :

A. does not exist

B. is 

C. is 0

D. is -1

Answer: C

View Text Solution

f(x) = x( − 1) [ 1 /x ] , x ≠ 0

≤ x lim
x→ 0

f(x)

∞

7.  is :lim
h→ 0

tan(a + 2h) − 2 tan(a + h) + tana

h2

https://dl.doubtnut.com/l/_ILZwZLL7VtNy
https://dl.doubtnut.com/l/_PJLAP34bJy2o
https://dl.doubtnut.com/l/_t3PclNn06w15


A. 

B. 

C. 

D. does not exist

Answer: A

Watch Video Solution

2 tana sec2 a

2 sec2 a

2 tana

8. If , then  is :

A. -1

B. 0

C. 1

D. does not exist

Answer: D

W t h Vid S l ti

f(x) =
⎡

⎣

[x] ≠ 0

0 [x] = 0

⎤

⎦

sin [x ]

[x ] lim
x→ 0

f(x)

https://dl.doubtnut.com/l/_t3PclNn06w15
https://dl.doubtnut.com/l/_DYlkNwJ1aMNi


Watch Video Solution

9.  is :

A. 1

B. 2

C. 

D. None of these

Answer: B

View Text Solution

lim
n→ ∞

( + ( )
2

+ ( )
3

+ ……. + ( )
n

)
2

3

2

3

2

3

2

3

1/2

10.  is equal to :

A. 

B. 

C. 

lim
x→ ∞

ex
2

− cos x

x2

2

3

1

2

3

2

https://dl.doubtnut.com/l/_DYlkNwJ1aMNi
https://dl.doubtnut.com/l/_e7hli2HYaG2D
https://dl.doubtnut.com/l/_9vFPR4jzVyt9


D. None of these

Answer: C

Watch Video Solution

11.  is equal to :

A. 2

B. 1

C. 0

D. does not exist

Answer: B

Watch Video Solution

lim
x→ 0

log(1 + x + x2) + log(1 − x − x2)

secx − cos x

12. The value of  islim
n→ ∞

cos( )cos( )cos( )…...cos( )
x

2
x

4
x

8

x

2n

https://dl.doubtnut.com/l/_9vFPR4jzVyt9
https://dl.doubtnut.com/l/_wEc1fEHhChh3
https://dl.doubtnut.com/l/_MbljbyYMzflr


A. 1

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

sinx

x

x

sinx

13.  is equal to :

A. 2

B. 4

C. 8

D. 16

Answer: D

Watch Video Solution

lim
x→ 0

logsecx / 2 cos x

logsecx cos x/2

https://dl.doubtnut.com/l/_MbljbyYMzflr
https://dl.doubtnut.com/l/_TYPr633itOEC


14. The value of  is equal to : then f

is :

A. e

B. 

C. 1

D. 

Answer: D

View Text Solution

lim
x→ 1

( )
x3 + 2x2 + x + 1

x2 + 2x + 3

1 − log (x− 1 )

(x− 1 )2

e1 / 2

√5/6

15. If , then 

 is equal to :

A. 

f(x) = , g(x) = and h(x) =
2

x − 3

x − 3

x + 4

−2(2x + 1)

x2 + x − 12

lim
x→ 3

[f(x) + g(x) + h(x)]

−2

7

https://dl.doubtnut.com/l/_TYPr633itOEC
https://dl.doubtnut.com/l/_PhlsUeitsoHz
https://dl.doubtnut.com/l/_8iuGhQXOEQcv


B. 0

C. -2

D. -1

Answer: A

Watch Video Solution

16.  is equal to :

A. 

B. log 2

C. 0

D. 

Answer: D

Watch Video Solution

lim
x→ ∞

(√x + √x + √x − √x)

e4

1

2

https://dl.doubtnut.com/l/_8iuGhQXOEQcv
https://dl.doubtnut.com/l/_b8melA8wVIkR
https://dl.doubtnut.com/l/_ESwVTbrc5tiL


17. The value of  is :

A. -1

B. 0

C. 1

D. None of these

Answer: B

Watch Video Solution

lim
x→ ∞

⎧⎪
⎨
⎪⎩

⎫⎪
⎬
⎪⎭

x2 sin( ) − x
1
x

1 − |x|

18.  is equal to :

A. 

B. 

C. 0

D. None of these

lim
x→ 0

[∫
a

y

esin2 tdt − ∫
a

x+y

esin2 tdt] ÷ x

esin2 y

sin 2yesin2 y

https://dl.doubtnut.com/l/_ESwVTbrc5tiL
https://dl.doubtnut.com/l/_d7SpLa3G5tGf


Answer: A

Watch Video Solution

19. If

is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

k

∑
r= 1

cos − 1 βr = , for any k ≥ 1 and A =
k

∑
r= 1

(βr)r, then lim
x→A

kπ

2

(1 + x2

1

2

1

4

1

3

1

7

https://dl.doubtnut.com/l/_d7SpLa3G5tGf
https://dl.doubtnut.com/l/_7qyNKpNjpKKo


20. The value of  is :

A. 

B. 1

C. -1

D. None of these

Answer: B

Watch Video Solution

lim
x→ 0

∫
x2

0 cos t2dt

x sinx

3
2

21.  equals :

A. 0

B. 

C. 2

D. 

lim
x→ ∞

∫ 2x

0
xe2dx

e4x2

∞

1

2

https://dl.doubtnut.com/l/_KxCYDSOHn1Td
https://dl.doubtnut.com/l/_qInk0Lt0oGR3


Answer: D

Watch Video Solution

22.  is equal to :

A. 

B. 1

C. 2

D. None of these

Answer: A

Watch Video Solution

lim
x→ 2

√x − 2 + √x − √2

√x2 − 4

1
2

23.  equals :lim
x→ 0

x√y2 − (y − x)
2

(√8xy − 4x2 + √8xy)
3

https://dl.doubtnut.com/l/_qInk0Lt0oGR3
https://dl.doubtnut.com/l/_l1XdZWkbVw4y
https://dl.doubtnut.com/l/_pivmumsoMSTO


A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

1

2√2

1

2

1

4

24. If  to n terms, then 

equals :

A. 

B. 

C. 3

D. infinite

Answer: A

Sn = + + + …….
1

1.4

1

4.7

1

7.10
lim
n→ ∞

Sn

1

3

1

4

https://dl.doubtnut.com/l/_pivmumsoMSTO
https://dl.doubtnut.com/l/_yLaqFa2C8FJj


Watch Video Solution

25. Let the rth term, , of a series is given by : . "Then" 

 equals :

A. 

B. 

C. 1

D. None of these

Answer: B

Watch Video Solution

tr tr =
r

1 + r2 + r4

lim
n→ ∞

n

∑
r= 1

tr

1

4

1

2

26. Let f(x), g(x) be differentiable functions and f(1) = g(1) = 2, then :

 equals :

A. 2

lim
x→ 1

f(1)g(x) − f(x)g(1) − f(1) + g(1)

g(x) − f(x)

https://dl.doubtnut.com/l/_yLaqFa2C8FJj
https://dl.doubtnut.com/l/_OgmN2AOsow3T
https://dl.doubtnut.com/l/_zNV2qz7ZVC8R


B. 0

C. 1

D. None of these

Answer: A

Watch Video Solution

27. Let {x} denote the fractional part of xlim Then  equals :

A. -1

B. 0

C. 1

D. None of these

Answer: C

Watch Video Solution

lim
X→ 0

{x}

tan{x}

https://dl.doubtnut.com/l/_zNV2qz7ZVC8R
https://dl.doubtnut.com/l/_G1yXhWSMZxvY
https://dl.doubtnut.com/l/_CQ66midvNK0V


28.  equals :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

lim
n→ ∞

[ + + …... + ]
1

1 − n4

8

1 − n4

n3

1 − n4

1

8

−
1

4

1

4

29.  equals :

A. 

B. 

C. 

D. 

lim
x→π / 3

2 sin(x − π/3)

1 − 2 cos x

2

√3

1

√2

1

3

2

3

https://dl.doubtnut.com/l/_CQ66midvNK0V
https://dl.doubtnut.com/l/_kxzdwRTlRiw3


Answer: A

Watch Video Solution

30. Let  Then 

equals :

A. 

B. 0

C. 1

D. None of these

Answer: C

Watch Video Solution

f(x) = {
x(sin 1/x + sin(1/x2)) x ≠ 0

0 x = 0
lim
x→ ∞

f(x)

−
1

2

31.  equals :lim
x→ 0

tan[e2]x2 − tan[ − e2]x2

sin2 x

https://dl.doubtnut.com/l/_kxzdwRTlRiw3
https://dl.doubtnut.com/l/_Gd7f3ZF0FdRH
https://dl.doubtnut.com/l/_4wMi0LXnidVE


A. 0

B. 8

C. 15

D. None of these

Answer: C

Watch Video Solution

32. If , where p, q,  N, then :

A. p = 4, q = 2

B. p = 8, q = 4

C. p = 16, q = 8

D. None of these

Answer: D

Watch Video Solution

lim
x→ 0

(1 + px)q/x = e4 ∈

https://dl.doubtnut.com/l/_4wMi0LXnidVE
https://dl.doubtnut.com/l/_hiLyprIV3Yjm


33. Let . Then 

 equals :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = 3x10 − 7x8 + 5x6 − 21x3 + 3x2 − 7

lim
h→ 0

f(1 − h) − f(1)

h3 + 3h

22

3

29

3

52

3

53

3

34. Let , where  is the distance from x to the

integer nearest to x, then  is :

A. 0

B. 1

f(x) = < x >* < x >*

lim
x→ 2

f(x)

https://dl.doubtnut.com/l/_hiLyprIV3Yjm
https://dl.doubtnut.com/l/_2Mj6OBseXOAN
https://dl.doubtnut.com/l/_QKZguaHo6Par


C. 2

D. 3

Answer: A

View Text Solution

35.  equals :

A. 0

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

lim
x→ 2 +

( − [ ]
3
)

[x]3

3
x

3

8

3

64

27

https://dl.doubtnut.com/l/_QKZguaHo6Par
https://dl.doubtnut.com/l/_V4DP3508bXlQ


36. If the function  is continuous at x = 0,

value of k is :

A. 1

B. -1

C. 0

D. e

Answer: A

Watch Video Solution

f(x) = [
(cos x)1 /x

x ≠ 0

k x = 0

37. Let  


, then f(x) is continuous at x = 0, if k is :

A. 15

B. -15

f(x) = |x|cos + 15x2, x ≠ 0,
1

x

= k, x = 0

https://dl.doubtnut.com/l/_h3Xn6wcHUWLg
https://dl.doubtnut.com/l/_9zQHFooM2EPh


C. 0

D. 6

Answer: C

View Text Solution

38. If

,

then the function f(x) g(x) :

A. is continuous at x = a

B. is not continuous at x = a

C. has a limit when  and is equal to lm

D. has a limit when , but it is not equal to lm

Answer: C

Watch Video Solution

lim
x→ a+

f(x) = l = lim
x→ a−

g(x) and lim
x→ a−

f(x) = m = lim
x→ a+

g(x)

x → a

x → a

https://dl.doubtnut.com/l/_9zQHFooM2EPh
https://dl.doubtnut.com/l/_TbAcUj8pvwV9


39. The following are continuous on  :

A.  


B. 

C. 

D. , 


Answer: B

Watch Video Solution

(0, π)

1, 0 ≤ x ≤
3π

4

2 sin , < x < π
x

3

3π

4

∫
x

0
sin dt

1

t

tanx

x sinx, 0 < x ≤
π

2

sin(π + x), < x < π
π

2

π

2

40. The value of b for which the function :

 is continuous at every point of its

domain is :

f(x) = {
5x − 4 if 0 < x ≤ 1

4x2 + 3bx if 1 < x < 2

https://dl.doubtnut.com/l/_TbAcUj8pvwV9
https://dl.doubtnut.com/l/_EEPq4oLDIeZv
https://dl.doubtnut.com/l/_M4zifUgfWsUT


A. -1

B. 0

C. 1

D. 

Answer: A

Watch Video Solution

13

3

41. Let , then at x = 0 :

A. f is continuous whatever  may be

B. f is discontinuous

C. f is continuous only if 

D. None of these

Answer: A

Watch Video Solution

f(x) = [
51 /x x < 0

λ[x] x ≤ 0,λ ∈ R

λ

λ = 0

https://dl.doubtnut.com/l/_M4zifUgfWsUT
https://dl.doubtnut.com/l/_1imKQRjO4xBD


Watch Video Solution

42. Let , where g is a function derivable at x

= a, then at x = a :

A. f is continuous only if g'(a) = 0

B. f is continuous

C. f is discontinuous

D. None of these

Answer: B

View Text Solution

f(x) = [
x ≠ 0

g' (a) x = a

g ( x ) −g ( a )

x−a

43. Let , then :

A. f is continuous at x = -1

f(x) =
⎧⎪
⎨
⎪⎩

1 x ≤ − 1

|x| −1 < x < 1

0 x ≥ 1

https://dl.doubtnut.com/l/_1imKQRjO4xBD
https://dl.doubtnut.com/l/_mX7fewoxhT7j
https://dl.doubtnut.com/l/_NMI0RtA3mxeI


B. f is differentiable at x = -1

C. f is continuous everywhere

D. f is differentiable for all x

Answer: A

View Text Solution

44. The function f(x) = [x] is :

A. discontinuous only for integral x

B. a constant function

C. continuous for all x

D. derivable for all x

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NMI0RtA3mxeI
https://dl.doubtnut.com/l/_mY2yQBI9QmDC
https://dl.doubtnut.com/l/_BfcRy4sTN5oG


45. Let , where . If f is

continuous at 0, then p is equal to :

A. 1 or -1

B. -2

C. 2

D. None of these

Answer: A

Watch Video Solution

f(x) =
1 − cos px

x sinx
x ≠ 0 and f(0) =

1

2

46. Let . The value

of k which makes f continuous at  is :

A. 

B. 

C. 

f(x) = , where x ≠ π/2 and f(π/2) = k
1 − sinx

(π − 2x)
2

π/2

1/8

1/4

1/2

https://dl.doubtnut.com/l/_BfcRy4sTN5oG
https://dl.doubtnut.com/l/_KWLRiriaQoFv


D. None of these

Answer: A

Watch Video Solution

47. Let , then for f to be continuous

at  must be equal to :

A. 1

B. 2

C. 

D. None of these

Answer: C

Watch Video Solution

f(x) = for x ≠ π/4
tan(π/4 − x)

cot 2x

x = π/4, f(π/4)

1/2

https://dl.doubtnut.com/l/_KWLRiriaQoFv
https://dl.doubtnut.com/l/_diuMRiBEQXZd


48. Let  be continuous in , then the

most suitable values of a and b are :

A. a = -1, b = 1

B. a = -1, b = 1 + 

C. a = 1, b = -1

D. None of these

Answer: A

Watch Video Solution

f(x) =

⎡
⎢
⎢
⎢
⎣

0 ≤ x < 1

a 1 ≤ x < √2

√2 ≤ x

x2

a

2b2 − 4b

x2

[0, ∞)

√2

49. The value of f(0) so that the function : 

becomes continuous, is equal to :

A. 

B. 2

f(x) =
√1 + x − (1 + x)1 / 3

x

1

3

https://dl.doubtnut.com/l/_5uQuW6tAYiSi
https://dl.doubtnut.com/l/_XvIRkROKgc90


C. 

D. 

Answer: C

Watch Video Solution

1

6

1

4

50. Let lim The value, which should be

assigned to f at x = 0 so that it is continuous everywhere, is :

A. 1

B. 2

C. 

D. -2

Answer: A

Watch Video Solution

f(x) =
√1 + sinx − √1 − sinx

x

1

2

https://dl.doubtnut.com/l/_XvIRkROKgc90
https://dl.doubtnut.com/l/_X7oNTz17bdf1
https://dl.doubtnut.com/l/_LGg3EHBAdnrK


51. To make  continuous at  must defined

as

A. 

B. f(0) = 0

C. f(0) = e

D. None of these

Answer: C

Watch Video Solution

f(x) = (x + 1)cot x
x = 0, f(0)

f(0) =
1

e

52. If , then on the interval  :

A. tan [f(x)] is continuous but  is not

B. tan [f(x)] and  are both continuous

C. tan [f(x)] and  are both continuous

D. tan [f(x)] and  are both discontinuous

f(x) = x − 1
1

2
[0, π]

1

f(x)

f − 1(x)

1

f(x)

1

f(x)

https://dl.doubtnut.com/l/_LGg3EHBAdnrK
https://dl.doubtnut.com/l/_kK3BHFF3K1Kz


Answer: D

Watch Video Solution

53. The value of x, where the function :  is

discontinuous, is given by :

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

f(x) =
tanx log(x − 2)

x2 − 4x + 3

( − ∞, 2)

( − ∞, 2) ∪ {3}

( − ∞, 2) ∪ {3, nπ + , n ≥ 1}
π

2

54. Let , the value which should be

assigned to f at , so that it is continuous everywhere is :

f(x) = , x ≠ π/4
tan( − x)π

4

cot 2x

x = π/4

https://dl.doubtnut.com/l/_kK3BHFF3K1Kz
https://dl.doubtnut.com/l/_2H1wTQGvJp8B
https://dl.doubtnut.com/l/_HvlMhbwHN7aT


A. 2

B. 

C. 1

D. None of these

Answer: B

Watch Video Solution

1/2

55. Let f(x) = x + 2, where , when , then :

A. f(x) is discontinuous at x = 0

B. f(x) is continuous at x = 1

C. 

D. None of these

Answer: B

Watch Video Solution

x ≤ 1 and f(x) = 4x − 1 x > 1

lim
x→ 1

f(x) = 4

https://dl.doubtnut.com/l/_HvlMhbwHN7aT
https://dl.doubtnut.com/l/_0XKr1ba6RYBX


56. Let the function f be defined by , when ,

when x = 0. Then at x = 0, f is :

A. not defined

B. continuous

C. not continuous

D. None of these

Answer: B

Watch Video Solution

f(x) = x sin
1

x
x ≠ 0 = 0

57. , when , when x = a, then :

A. f has a limit 1 at x = a

B. f is continuous everywhere

C. f is continuous at x = a

f(x) =
|x − a|

x − a
x ≠ a, = 1

https://dl.doubtnut.com/l/_0XKr1ba6RYBX
https://dl.doubtnut.com/l/_CikgvB0Jkx1T
https://dl.doubtnut.com/l/_hKUi4OAzlszl


D. limit of f does not exist at x = a

Answer: D

Watch Video Solution

58. The value of f(0) for which the function :

 is continuous at x = 0 is :

A. b - a

B. a + b

C. 

D. a - b

Answer: A

Watch Video Solution

loge(1 − ax) − log3(1 − bx)

x

−(a + b)

https://dl.doubtnut.com/l/_hKUi4OAzlszl
https://dl.doubtnut.com/l/_XVHdm2mvJmhu


59. If  be a

continuous functions, then  equals :

A. 2

B. 1

C. -1

D. 3

Answer: A

Watch Video Solution

f(x) = , x ≠ 0 and f(0) = 8
(ex − 1)4

sin( )log(1 + )x2

λ2

x2

2

λ

60. If , then f is continuous at x =

2, provided  is equal to :

A. 2

B. -1

f(x) = [x] + [ − x], x ≠ 2 = λ, x = 2

λ

https://dl.doubtnut.com/l/_qptq6aAURjm8
https://dl.doubtnut.com/l/_xTbu9a5Tc8hI


C. 1

D. 0

Answer: B

Watch Video Solution

61. Let f(x) be defined by  Then f(x) is

continuous for all :

A. x

B. x except at x = 0

C. x except at x = 1

D. x except at x = 0 and x = 1

Answer: D

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

x ≠ 0,1

1 x = 0

−1 x = 1

∣∣x2 −x ∣∣

x2 −x

https://dl.doubtnut.com/l/_xTbu9a5Tc8hI
https://dl.doubtnut.com/l/_wo6XRJArfsXq


62.  is :

A. 

B. 

C. 

D. e

Answer: A

Watch Video Solution

lim
x→ ∞

( )
x

x2 + 5x + 3

x2 + x + 2

e4

e2

e3

63. , the value of k is :

A. 

B. 

C. 

D. 0

lim
x→ 0

= k
log(3 + x) − log(3 − x)

x

−
1

3

2

3

−
2

3

https://dl.doubtnut.com/l/_wo6XRJArfsXq
https://dl.doubtnut.com/l/_FzsLFebwgjZw
https://dl.doubtnut.com/l/_BHRqX162oc5Y


Answer: B

Watch Video Solution

64.  is :

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
x→ π

2

(1 − tanx/2)(1 − sinx)

(1 + tanx/2)(π − 2x)3

1

32

∞

1

8

65. The value of  is :

A. 2

lim
x→ 0

∫
x2

0 sec2 tdt

x sinx

https://dl.doubtnut.com/l/_BHRqX162oc5Y
https://dl.doubtnut.com/l/_sjgwrkvSs9Ro
https://dl.doubtnut.com/l/_JV236vKlJVUa


B. 1

C. 0

D. 3

Answer: B

Watch Video Solution

66. The value of

 is

:

A. zero

B. 

C. 

D. 

Answer: C

lim
n→ ∞

− lim
n→ ∞

1 + 24 + 34 + …... + n4

n5

1 + 23 + 33 + …... + n3

n5

1

4

1

5

1

30

https://dl.doubtnut.com/l/_JV236vKlJVUa
https://dl.doubtnut.com/l/_MYDPITDcTGrA


Watch Video Solution

67. , where n is non-zero positive

integer, tehn a is equal to :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ 0

= 0
sinnx[(a − n)nx − tanx]

x2

(n + 1)

n

n2

1

n

n +
1

n

68. If , then the values of a and b, are :

A. 

B. 

lim
h→ 0

(1 + + )
2x

= e2a

x

b

x2

a ∈ R, b ∈ R

a = 1, b ∈ R

https://dl.doubtnut.com/l/_MYDPITDcTGrA
https://dl.doubtnut.com/l/_jR5Yr4JdsnK4
https://dl.doubtnut.com/l/_ty0fZGa17ymt


C. 

D. 

Answer: B

Watch Video Solution

a ∈ R, b = 2

a = 1, b = 2

69. Let , if f(x) is continuous in 

, then  is :

A. 1

B. 

C. 

D. -1

Answer: C

Watch Video Solution

f(x) = , x ≠ , x ∈ [0, ]
1 − tanx

4x − π

π

4

π

2

[0, ]
π

4
f( )

π

4

1

2

−
1

2

https://dl.doubtnut.com/l/_ty0fZGa17ymt
https://dl.doubtnut.com/l/_AdATEdZHPXfn
https://dl.doubtnut.com/l/_qB8IQbhotBjQ


70. Let  be the distinct roots of , then 

 is equal to :

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

α and β ax2 + bx + c = 0

lim
x→α

1 − cos(ax2 + bx + c)

(x − α)2

(α − β)
2a2

2

(α − β)
21

2

− (α − β)
2a2

2

71.  equals :

A. 

B. 

C. 

lim
x→ π

4

∫ sec2 x

2
f(t)dt

x2 − π2

16

f(2)
8

π

f(2)
2

π

2

π

f(1)

2

https://dl.doubtnut.com/l/_qB8IQbhotBjQ
https://dl.doubtnut.com/l/_yrVIJ9sjofsL


D. 4f (2)

Answer: A

Watch Video Solution

72. For  is :

A. 0

B. -1

C. 1

D. 2

Answer: C

Watch Video Solution

x > 0, lim
x→ 0

((sinx)1 /x + ( )
sin x

)
1

x

https://dl.doubtnut.com/l/_yrVIJ9sjofsL
https://dl.doubtnut.com/l/_l0BtCnTTSwW9
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73. The function  given by : 


 can be made continuous at x = 0 by defining f(0)

as :

A. -1

B. 0

C. 1

D. 2

Answer: C

Watch Video Solution

f :R/{0} → R

f(x) = −
1

x

2

e2x − 1

1. The values of  is :

A. 0

lim
x→ 0

∫
x

0
dt

1

x3

tIn(1 + t)

t4 + 4

https://dl.doubtnut.com/l/_yWg2OBa3ml59
https://dl.doubtnut.com/l/_EHdfOLqeAd7Z


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

12

1

24

1

64

2.  :

A. does not exist

B. equals 

C. equals 

D. equals 

Answer: A

Watch Video Solution

lim
x→ 2

( )
√1 − cos{2(x − 2)}

x − 2

√2

−√2

1

√2

https://dl.doubtnut.com/l/_EHdfOLqeAd7Z
https://dl.doubtnut.com/l/_SDRc6rI3A2Zs


3. If ,

then the value of  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

lim
x→ 0

[1 + xIn(1 + b2)] = 2b sin2 θ, b > 0 and θ ∈ ( − π, π]
1
x

θ

±
π

4

±
π

3

±
π

6

±
π

2

4. The values of p and q for which the function : 

 is : 


continuous for all x in R, are :

A. 

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

x < 0

q x = 0

x > 0

sin ( p+ 1 ) x+ sin x

x

√x+x2 − √x

x3 / 2

p = , q = −
1
2

3
2

https://dl.doubtnut.com/l/_R6GV30GHt3BH
https://dl.doubtnut.com/l/_fvvgQncpdRgW


B. 

C. 

D. 

Answer: C

Watch Video Solution

p = , q =
5

2

1

2

p = − , q =
3

2

1

2

p = , q =
1

2

3

2

5. Let  be such that  exists and 

. Then  equals :

A. 10

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

f :R → [10, ∞) lim
x→ 5

f(x)

lim
x→ 5

= 0
(f(x))

2
− 9

√|x − 5|
lim
x→ 5

f(x)

https://dl.doubtnut.com/l/_fvvgQncpdRgW
https://dl.doubtnut.com/l/_rFo00uq9qFSj


6. If  is a function defined by : 

where [x] denotes the greatest integer function, then 'f' is :

A. continuous for every real x

B. discontinuous only at x = 0

C. discontinuous only at non-zero integral values of x

D. continuous only at x = 0

Answer: A

Watch Video Solution

f :R → R f(x) = [x]c cos( )π,
2x − 1

2

7. If , then :

A. a = 1, b = 4

B. a = 1, b = -4

lim
x→ ∞

( − ax − b) = 4
x2 + x + 1

x + 1

https://dl.doubtnut.com/l/_rFo00uq9qFSj
https://dl.doubtnut.com/l/_ibC0VNHe9Cqm
https://dl.doubtnut.com/l/_tiZryAHjL2Nx


C. a = 2, b = -3

D. a = 2, b = 3

Answer: B

Watch Video Solution

8. Let  be the roots of the equations : 

, where 

. Then  are :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α(a)β(a)

( 3√1 + a − 1)x2 + (√1 + a − 1)x + ( 6√1 + a − 1) = 0

a > − 1 lim
a→ 0 +

α(a) and lim
a→ 0 +

β(a)

− and 1
5

2

− and − 1
1

2

− and 2
7
2

− and 3
9

2

https://dl.doubtnut.com/l/_tiZryAHjL2Nx
https://dl.doubtnut.com/l/_nKbUqQi7wrrA


9.  is equal to :

A. 

B. 1

C. 2

D. 

Answer: C

Watch Video Solution

lim
x→ 0

(1 − cos 2x)(3 + cos x)

x tan 4x

1

2

−
1

4

10.  is equal to :

A. 1

B. 

C. 

D. 

lim
x→ 0

sin(π cos2 x)

x2

−π

π

π

2

https://dl.doubtnut.com/l/_nKbUqQi7wrrA
https://dl.doubtnut.com/l/_ESd4oTsC944j
https://dl.doubtnut.com/l/_M8mjGUzqIZDl
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Answer: C

Watch Video Solution

11.  is equal to :

A. 4

B. 3

C. 2

D. 

Answer: C

Watch Video Solution

lim
x→ 0

(1 − cos 2x)(3 + cos x)

x tan 4x

1

2

https://dl.doubtnut.com/l/_M8mjGUzqIZDl
https://dl.doubtnut.com/l/_V1EFdwaSUmZc


1. If  is continuous at x = 0, then the value of k is

equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = {
x ≠ 0

2k x = 0

3 sin πx

5x

3π

10

3π

5

π

10

3π

2

2. If the function f(x) satisfies , then 

A. 2

B. 3

C. 1

lim
x→ 1

= π
f(x) − 2

x2 − 1
lim
x→ 1

f(x) =

https://dl.doubtnut.com/l/_3Zm2SS8wFyYl
https://dl.doubtnut.com/l/_ZJz4ZO9L2RD1


D. 0

Answer: A

Watch Video Solution

3. 

A. 3

B. 

C. 

D. 

Answer: B

View Text Solution

lim
n→ ∞

=
(12 + 22……. + n2)(n)1 /n

(n + 1)(n + 10)(n + 100)

1

3

2

3

∞

4.  is :lim
x→ 0

1 − cos x

x2

https://dl.doubtnut.com/l/_ZJz4ZO9L2RD1
https://dl.doubtnut.com/l/_IN87nquFBYyY
https://dl.doubtnut.com/l/_bS4GKwhQuaRz


A. 2

B. 3

C. 

D. 

Answer: C

Watch Video Solution

1

2

1

3

5. The function  where  is the greatest integer function is

continous at

A. 4

B. -2

C. 1

D. integers

Answer: D

f(x) = [x] [x]

https://dl.doubtnut.com/l/_bS4GKwhQuaRz
https://dl.doubtnut.com/l/_8eble8CygYXI


Watch Video Solution

6. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = {
3x − 8 ifx ≤ 5

2k  ifx > 5

2

7

3

7

4
7

7
2

7. 

A. 

B. 

C. 0

lim
x→ ∞

(√a2x2 + bx + c − ax) =

b

2a

b

a

https://dl.doubtnut.com/l/_8eble8CygYXI
https://dl.doubtnut.com/l/_5gXSs20ZAq0d
https://dl.doubtnut.com/l/_mi314al23mFk


D. 

Answer: A

Watch Video Solution

2b
a

https://dl.doubtnut.com/l/_mi314al23mFk

